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LAW
PAPER —1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.

A resident of a colony writes to the judge of a High Court complaining about the
company polluting the environment in the area resulting in health hazards. This :

(A) cannot be treated as a writ petition

(B) can be treated on a writ petition

(C) can be partially treated a writ petition

(D) can be treated as a petition only if it was presented by a lawyer.

Right to education is declared as fundamental right by the Supreme Court in :
(A) Olga Tellis” case (B) Mohini Jain’s case

(C) Unnikrishnan’s case (D) In Re Kerala Education Bill

Preamble is :
(A) Part of the Constitution (B) Not a part of the Constitution
(C) Prelogue to the Constitution (D) None of the above

Parliament can amend :

(A) Any part of the Constitution

(B) Any part without disturbing the basic structure
(C) Only fundamental rights

(D) Only directive principles

Which one of the following Fundamental Duties relates to environmental protection ?
(A) 51 A (b) (B) 51 A (o)
(C) 5LA (g) (D) 5LA ()

Justice Bhagwati delivered a minority opinion in favour of Directive Principles in :
(A) Kesavananda Bharati’s case (B) Golak Nath’s case
(C) Minerva Mills’ case (D) Sajjan Singh’s case

Which one of the following doctrine relates to the interpretation of the legislative conflicts
between the Union and the States ?

(A) Doctrine of clear and present danger (B) Precautionary approach
(C) Starer decisis (D) Pith and substance
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11.
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13.

14.

15.

Imperative theory of law was propounded by :
(A) Pound (B) Kelsen
(C) Austin (D) Salmond

Which one of the theories of punishment be considered as Judicial contribution to social
change ?

(A) Deterrent (B) Preventive
(C) Reformative (D) Retributive

A person knows the consequences of the act. But he acts without caring the consequences.
He is said to be:

(A) Negligent (B) Stupid
(C) Malicious (D) Highhanded

Right - Duty co-relation is expounded by :
(A) Austin (B) Fuller
(C) Honfeld (D) Cardozo

The Jurist who gave more Predominance to the Rule of law than Droit Administratiff
was :

(A) Jennings (B) Dicey
(C) Salmond (D) Hall

The theory of ‘Social Engineering” was propounded by :
(A) Austin (B) Iver Jennings
(C) Roscoe Pound (D) Dicey

Law is an instrument of :
(A) Social Deviance (B) Social change
(C) Social Status (D) Social Exculpation

In which case the House of Lords confirmed explicitly that ‘a treaty to which Her
Majesty’s government is a party does not alter the law of the United Kingdom :

(A) Arab Monetary Fund Vs. Hashim
(B) James Buchanan and Co Vs. Babco Forwarding and Shipping
(©

(D)

Macline Watson Vs. Department of Trade and Industry
Trendtix Trading Corporation Vs. Central Bank of India

D —5804 4
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17.

18.

19.

Using the codes given below indicate the chronological sequence in which the following
judgments were delivered by the International Court of Justice :

(a) Rights of Passage case

(b) Rights of U.S. Nationals in Morocco
() The Reparation case

(d) Temple of Preah Vihar

Codes :

(A) (d), (a), (b) and (0) (B) (o) (b), (d) and (a)
(©)  (d), (b), (a) and (c) (D) (9), (b), (a) and (d)
Match List I with List II using the codes given :
List I List II
(a) Declaratory Theory of (i) Temple of Preah Vihar
recognition
(b)  Constitutive theory (i) E.C. Arbitration Commission in
Yugoslavia
() Acquiescence (i) International Registration of Trade
Mark (Germany)
(d) Customs (iv) North - Sea continental shelf case
Codes :
@ (B (© ()
(A) @@ @) @ (1v)
(B) @) @ (@) (i)
(© Gv) (@) @) @)
(D) Gv) @) (D) (D)
Assertion (A) The International Court of Justice is a principal organ of the
United Nations
Reason (R) : The U.N. charters recognises it so.
Codes :

(A) Both (A) and (R) are true and (R) is the true explanation of (A).

(B) Both (A) and (R) are true and (R) is not the true explanation of (A).

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

In which case arbitration was not used for settlement of disputes :

(A) Amoco Finance Case (B) Interpretation of the Treaty of Lausanne
(C) Island of Palmas Case (D) Passage through the Great Belt Case
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23.

24.

25.

26.

27.

The First case in which a chamber of the International Court of Justice heared a case
was :

(A) Frontier Dispute Case (Burkina Faso Vs. Mali)

(B) Land and Maritime Boundaries Case (El Salvador Vs. Honduras)
(C) The Gulf of Maine case

(D) The Elettranica case

Section 9 of Hindu Marriage Act 1955 has been declared unconstitutional by the
Supreme Court in a case :

(A) Santi Vs. Ramesh (B) T. Sareetha Vs. T. Venkatah Subhiah
(C) Trithi Kaur Vs. Kripal Singh (D) AXK. Kapoor Vs. Union of India

The Supreme Court has held that mother can be natural guardian even in the presence
of father. In a case :

(A) Vishaka Case (B) Mangla Prasad Case
(C) Gita Hariharan Case (D) Hanuman Prasad Case

Hindu Minor’s Marriage is :
(A) Valid (B) Void
(C) Voidable (D) Factum - Valid

A Muslim Husband has E-mail divorce letter containing I divorce you, I divorce you,
I divorce you, without the signatures of witnesses. Divorce will be :

(A) Valid (B) Void
(C) Voidable (D) None of the above

The Most approved form of divorce under Muslim Law is :
(A) Talaq - 1i- Tafweed (B) Talaq -1i- Alisan
(C) Talaq -1i- Hasan (D) Talaq - ul - Bidat

A Muslim Marriage takes place without fixation of dower. The Marriage will be :
(A) Sahih (B) Batil
(C) Fasid (D) None of the above

The latest theory of contract is :
(A) Will theory (B) Theory of enforceability
(C) Purpose theory (D) Fides Ficta

D —5804 8
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27.
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32.

33.

34.

35.

Quasi contract emerged from :
(A) Assumpsit (B) Indebitatus assumpsit
(C) Non feasance (D) Mis feasance

If agreement is against public policy, it shall be :
(A) Void (B) Voidable
(C) Valid (D) Irregular

Under the Indian Contract Act, wagering agreements are :
(A) Illegal

(B) Voidable
(©
(D)

Only void and never illegal
D) Void, but can be made illegal by enactment

A person consulted a doctor and got a prescription, but no one spoke about fee :
(A) Patient has to pay fee as doctor demands

(B) Patient has to pay as he wish to pay
©

(D)

Doctor can charge reasonable fee
Court shall decide the fee of doctor

Silence amounts to fraud :
(A) Always (B) Never
(C) When duty to speak is not fulfilled (D) None of above

Slander is not actionable per se. It means :
(A) Intention is to be proved (B) Damages are to be proved
(C) Breach of duty is to be proved (D) None of above

The doctrine of contributory negligence is not applicable, when negligence is committed
by :

(A) Women (B) Child

(C) State (D) None of above

A driver was reversing a car. There was a child behind the car but the child was not
injured at all. The mother of the child looking from some distance was shocked under
misconception that an accident of her child took place.

(A) Driver will be liable for nervous shock (B) Not liable
(C) Liable at the discretion of court (D) None of above
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If defamatory statement is true, the affected party can :
(A) Claim damages (B) Cannot claim
(C) Partial damages are allowed (D) None of above

For negligence, which theory is correct :
(A) Objective theory (B) Subjective theory
(C) Objective as well as subjective theory (D) None of above

Due to earthquake a tenant died. The Landlord can take defence of :
(A) Inevitable accident (B) Act of God
(C) Volenti non fit injuria (D) Statutory Authority

Under which one of the following sections of the Indian Penal Code, the word “offence”
has been defined :

(A) Sec. 39 (B) Sec. 40
(C) Sec. 41 (D) Sec. 42

Which one of the following is not essential to attract the provisions of sec. 149 of the
Indian Penal Code ?

(A) Any member of unlawful assembly may commit an offence
B) Offence is committed after pre meeting of minds
Offence is committed in prosecuting of common object of the unlawful assembly

Unlawful assembly consists five or more than five persons having common object
enumerated under section 141 of the Indian Penal Code

X, a married woman being annoyed from family quarrels, threatens her husband that
she would commit suicide by falling into a nearby well. She runs towards the well but
at a distance she is stopped from committing suicide by some a stranger from behind.
Decide liability.

(A) Xis liable for an attempt to commit suicide

B) Xis not liable for attempt to suicide

X is liable for threatening of suicide

None of the above is correct

Point out the correct statement :

X abets Y to beat Z. While Y was beating Z, he causes fracture in Z’s leg.
(A) Xis liable for abetment to cause simple hurt

(B) Xis liable for abetment to cause grievous hurt

(C) Xis not liable for grievous hurt because he did not abet Y to cause it
(D) None of the above is correct
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49.

50.

Which one of the following is NOT an essential of an offence ?
(A) Motive (B) Intention
(C) Punishment (D) Prohibited act

X a boy of 22 years sits on the cot of a sleeping girl of 19 years old and pulls down her
lower clothes Point out correct answer :

(A) Xis liable for punishment undersection 376 of the Indian Penal Code
B) X s liable for punishment undersection 354 of the Indian Penal Code
X is liable for punishment undersection 509 of the Indian Penal Code

X is liable for punishment under all the sections enumerated above

Employer’s instrument of coercion is known as :
(A) Layoff (B) Closure
(C) Lockout (D) Retrenchment

The definition of ‘industry” was amended in the year :
(A) 1981 (B) 1982
(C) 1984 (D) 1988

In which case the Supreme Court declared that an educational institution
is ‘industry’ :

(A) Coir Board (B) Bangalore Water Supply

(C) University of Delhi Vs. Ram Nath (D) Hamdard University Case

Termination of service of a workman for any reason whatsoever (except disciplinary
action and voluntary retirement) is :

(A) Dismissal (B) Discharge
(C) Retrenchment (D) None of the above

The Minimum number of workmen required for registration of a trade union is :
(A) 7 (B) 8
< 9 (D) 10

‘Last come first go’ rule is applicable in the case of :

(A) Closure (B) Lockout
(C) Transfer of undertaking (D) Retrenchment
-00o0-

D —5804 14



43.

44.

45.

46.

47.

48.

49.

50.

= o 9§ o1 STy T SAEYTeh dcdl TRl © 2
(A) T (B) STM
(C) TUs (D) afSid &

22 T Wk oSH, X, 19 TUIT Wt g8 TSh! i Tl W o3 Wil § 3R SHF 9 1 o
i 3@ B | W S ST

(A) X IR TUE Hiedl i 4N 376 % T=RTd U T |

(B) X YRdT SUS Wfedl i oW 354 & T=A{d U T |

(C) X YR Tve Hfgdl st € 509 % ST U |

(D) X 394 Gft el & STl qued B |

fisTeh & Tod o SfYR ol Tel ST © ¢

(A) ST gt (B) =t
(C) drasi=<] (D) Bt
ITNT T YRS H HMEA 3T o1 | a9

(A) 1981 H (B) 1982°H
(C) 1984 H (D) 1988 ®

=1 o fohm a1g o Swan =Immerd | Stefores HXM Rl S shfa e o
(A) TERRAE (B) SR AT H=AE A5
(C) Teat fovafoaner s-m w1 (D) @uee favafasmer &1k

SRS hraR! & Wiwgs g1 Hafa 9 faa foredft ff R0 § &6 R &6t gan &
THEEH T :

(A) TE=Afd (B) Hargf®

(C) Bt (D) W H § & off 7l
forell =™ To & TSl | fohg STereares Sl &l 9@ © :
Ay 7 (B) 8

() 9 (D) 10

* sifam e, weet SR’ 1 o o] B €

(A) =T (B) drIE=
(C) IUhHH o1 =< (D) Bt
-00o0-

D —5804 15 P.T.O.



Space For Rough Work

D —5804 16



